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Heterocyclic problems 

Problems: 

 

I. Write all missing compounds. Which simple and much known compound could you suggest as 

starting material, if the reaction from C to B includes base-catalyzed dehydration?
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II. Propose the mechanism for first reaction. Write the missing compound.
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III. Explain the formation of four compounds A, B, C, D (target molecule is A). 

 

IV. Suggest initial compounds for three component condensation to get following molecule.
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Solution: 

 

Problem I: 

 

 

Problem II: 

 

Problem IV:  

 



Problem III: 

 

 

 

 


